ZWE Steel
Installation Manual

AN
| \ng‘&

b
|>j@~/

5000 itr Collapsible Tank stand

For Further Enquiries Contact us at No. 62 Harare Drive, Mariborough, Harare
Contact: +263 784 526 551 | +263 772 162 450 | +263 784 526 000

_\-\—.\—;

5000.9.. ltr Collapsible tank stand

ZWE Steel

Lipped channel

0x3 2/50' L—— on Tank platform 4Ox40x3
ross brace D L40x40x
7 horizontal brace =
|l L60x60x6 Runners 30x3 F /b L60xBOx6
column - on tank platform cr;u b{OEL column
i Mc
— 30x3 F/bar
cross brace
/\&De!oil A 30x3 F/bar
s W N/ U 0 J/J/ \\ cross brace
™~
@
7 A A L60x60x6w D 30,3 f /bor
é & column. ross broceo 40x
= . L40x40x
> L40x40x3 horizontal brace
Detdi horizontal braoce A‘
et oil _ "
1 /\Deluil 5 /\‘(Deloll D
| § R \ L
3 B 8
e
a4 4
[ S 30x3 F/bar L40x40x3
sssss brace horizontal brace
L60x60x6
column
o Section-AA&BB
3
. C C L40x40x3
$ $ horizontal brace
§ M12 HD_bolts| Detoll £ |
Gl

T T semence

me }oundu(ion depth

[

*All connections to be B -

Isecured by M12 bolts | 200
[ \’}Hole size
I

&

i

5000 Itr Collapsible tank stand

ZWE Steel

This wil ce the finol stoge

of installation. |t will be placed ontcp
of the oraced column structure
secured by M12 oolts

they ore 2ng to fcliow cfter
the columns ore cyed cown.
One ontop of the other, and will
be secured by c M12 oot

ot the centre

they aore 3rd ond last to be placed
ofter the cross braces then
connected secursiy by M12 boits.

Foundation (Typical)
with Holding down boits,
to connect column bases.




ZWE Steel
Installation Manual

S
5. /4m

5000 Itr Collapsible Tank stand

For Further Enquiries Contact us at No. 62 Harare Drive, Mariborough, Harare
Contact: 4263 784 526 551 | +263 772 162 450 | +263 784 526 000

|

ZWE Steel
5000 _Itr Collapsible tan

Lipped channel

——1 on Tonk platform
|

30x3 F/bor L40x40x3

cross bracyé horizontal brace
Runners 30x3 F

60x60x6 x3 F /bor

lc-olu:rm,( | on tank platform cross braoce

Detail C

30x3 F/bar =~ 7 L60x60x6
30x3 F/bar
cross brace

cross broce

k stand
Detail

L60x60x6
column

Detail DJOXJ F/bar

column €ross brace
L40%x40x3
L40x40x3 -horizontal brace
horizontal brace—

(\(ﬁetcﬂ D
L/

Section-AA

N < Detail E
T =5 = 30x3 F/bar L40x40x3
| T k cross brace horizontal brace
| Detail C H .
| . L60x60x6
" Detail A column
9
3 A A
{ n $ $ L40x40x3
horizontal brace
N\
g )
3 '/\Demn B
e
N
ke |
|3 !
GL
g M12 HD_bolts
Ta | oL

P \/Detoii E

oLt

Foundation depth

7 Front view

\ )
Section-BB’
—

minlinhiEn

*All connections to be

|
secured by M12 bolts I_ﬂm_.{l Hole <
ole size
y e

ank platform ol [ _
E
SiSpEIE] NS & L

|
Plan view

—%}—_v—'
U4

P in' Foundation plan

ZWE Steel
5000 Itr Collapsible tank stand

Tank Pigtform
This will be the final stage
of installation. It will be placed ontop

of the braced column structure,
- secured by M12Z bolts.

Cross oroces(typical)

/ they are 2nd to follow sfter
the columns cre cyed down.
One ontop of the other, ond will

/4 be secured o5y 5 M2 boit

at the centre.

>
%

+——— Founcation (Typical)
with Hoiding down Ddolts,
{0 connect column Dases

Exploded view

Note:
*Bracing procedure to be repeated on faces (D & B).




